BARANE R - AAKETER (IBAEHET)

ARNTEREFSREHZFHT - AOKER

1T 4 AR X HE 5 z 5
AGERT Hh I AREHET 1,166 1,480 1,482 2,962
RiEhis iz 821 884 896 1,780
2K BT 7 $h 32§ AHET 7 205 207 238 445
AT R Hhig N 883 942 1,046 1,988
TR b i TR 1,048 1,207 1,381 2,588
=/ Eihig B/E 482 536 589 1,125
K2R Jﬁ’ﬁ‘m 205 216 270 486
Hma 104 143 153 296
iR ithig iR 263 293 352 645
s ZAR L 94 95 132 227
AR KE 920 1,042 1,087 2,129
it 2 Ehis dzE 481 534 552 1,086
B M-Af 165 186 187 373
LA 7ot R 198 220 225 445
F& Hhig Be 2,858 3,340 3,749 7,089
HHE A Hhig HES 1,946 2,277 2,524 4,801
ERAE) &g AEN&—~mTH 786 949 1,026 1,975
PR &Rz &EE~ATH 1,486 2,248 2,272 4,520
M B A Hhig MRS 2,350 3,387 3,437 6,824
HE3E A Hhig HmES 2,324 3,378 3,465 6,843
LA Hhig wIlUE 1,709 2,521 2,542 5,063
20,494 26,085 27,605 53,690

BARAGFEEHF - AOEEF (I8 1LELET)

1T I 4 AR X N 5 z i
" e i3 H 189 237 286 523
AR FafaH 417 550 598 1,148
J6 3 B #hisg FEE 417 572 585 1,157
B E Hhig BETE 664 855 900 1,755
HEF 56 55 83 138
- LR 137 174 183 357
BRI B3 242 339 368 707
ek 44 39 66 105
a1&E 52 72 89 161
tRo& 130 147 194 341
IRt ERithis +Ia3%F 72 91 110 201
+IH4AE 52 66 73 139
+IH5%E 102 126 138 264
+tih6e&E 164 182 215 397
tR7&E 67 82 83 165
L inraEbitig +in8&E 92 119 117 236
+IHo%E 109 119 136 255
El10& 90 96 119 215
WERXsN 28 26 32 58
= e X 4% 6 4 6 10
R4 69 58 73 131
3,199 4,009 4,454 8,463

ERk29F11 B XH
THH 5 5 X H

BAAERARD 29,442 36,564 39,161 75,725
SEAERAO 197 281 247 528
KENHAO 29,639 36,845 39,408 76,253

B A R it#%- A OS5+ (1B NAET)

1T g £ AR X HEH 5 g 5

b b =] 245 294 309 603
BRI ZA/R 125 151 170 321
= H 109 140 153 293
P ki 66 78 91 169
IR PR AL KE 220 257 251 508
EIEFE 20 25 25 50
FEFTHT 172 174 204 378
HTHET Hh iz h#TET 138 152 158 310
AL FrHET 133 174 148 322
FaET 184 214 248 462
FG T 16 24 29 53
fin B thig chET 36 36 37 73
BT 98 101 120 221
& 87 89 116 205
TRl PG 139 144 189 333
" ERER—TH 51 55 68 123
BRI A1 ERER=TH 295 335 347 682
ERER=TH 59 79 85 164
Rill 57 50 63 113
Lz k 32 18 35 53
it 41 47 47 94
hnyse BAR ik ING L 58 57 61 118
INET 65 64 64 128
$£7 74 80 96 176
(LI 27 38 36 74
HERE 97 102 107 209
FeE) 5 112 134 151 285
AR 95 101 130 231
il 46 48 53 101
R R Hh i ® 33 36 38 74
BEKE& 62 63 74 137
IhVEF 72 72 94 166
mp 40 47 58 105
B 37 39 45 84
=i 38 40 48 88
B/ 12 14 17 31
N 5 5 4 9
7/ 33 39 43 82
ETF 22 28 27 55
W ITFF 15 16 21 37
SR e 10 13 11 24
=P 9 7 9 16
i35 4 3 2 5
N 13 11 15 26
bus 29 37 44 81
AR 46 54 72 126
FINTE & i EIGA= 2,372 2,685 2,889 5574
5,749 6,470 7,102 13,572

FERE29F 11 ARIRE

5% HIA R

X5 THHE z H

BARAERAO 29,390 36,507 39,113 75,620

SEAERAO 192 274 246 520

KENMmAA 29,582 36,781 39,359 76,140
(BEH) (BH)

X5 ik z B X5 ik 5
Be—TH 779 815 961 1,776 WLE—TE 187 236 233 469
HEZTH 561 632 725 1,357 WUE=TH 0 0 0 0
WE=ZTH 275 320 345 665 WILE=TH 0 0 0 0
HemTH 210 260 284 544 WILEMTE 0 0 0 0
HWERTH 743 959 1,033 1,992 WILERETHE 113 175 180 355
H&EATH 87 104 115 219 WILENRTEB 239 353 358 711
HWELTH 203 250 286 536 WLEtETHE 476 733 726 1,459

HESE—TH 206 249 284 533 WILE/INTE 0 0 0 0
HEEZTH 252 320 336 656 BWILENTHE 20 24 31 55
HEEB=TH 8 9 10 19 BWLE+TE 321 478 495 973
HEBMTH 0 0 0 0 wea+—TH 267 408 413 821
HEBRTH 306 358 394 752 WueE+=TH 0 0 0 0
HEBNTHE 167 197 242 439 WueE+=TH 86 114 106 220
HEBSETH 341 382 425 807
HEEB/N\THE 369 455 488 943
HEBATH 297 307 345 652

KZINE—TH 337 407 427 834

KEZJINEZTH 101 124 126 250

KENE=ZTH 348 418 473 891

KZEINEWMTH 0 0 0 0

KENERTH 239 395 384 779

KEINEARTE 547 775 775 1,550 (&FH)

KENELTH 324 465 480 945 X5 ik i

KZINE/NTH 375 612 633 1,245 mmEe—TH 166 193 209 402

KEINEATH 1 1 0 1 EmE&E=TH 142 146 167 313
MEE—TH 507 763 707 1,470 ENE&E=TH 140 143 164 307
MEEZ=ZTH 131 207 200 407 FENEEmTH 117 131 151 282
MWRE=TH 244 344 376 720 FEINZEERTH 53 61 58 119
MWREMTH 264 345 367 712 EmnE&E/RTH 166 179 203 382
MEERTH 275 398 403 801 mAmEaetTHE 153 166 198 364
MEENRTH 405 571 581 1,152 EmEa/\TH 190 212 235 447
MWEREETH 302 468 474 942 EmEaenTE 186 209 230 439
MEE/NTH 222 291 329 620 mnEs+TH 179 205 211 416
m\EE—TH 290 305 325 630 EmxEe+—TH 254 289 291 580
w\EBZTH 381 545 555 1,100 EmxEE+=TH 217 269 265 534
BEB=TH 364 567 606 1,173 Emxe+=TH 150 177 182 359
wBEAEMTH 298 452 470 922 Emxae+mTE 119 136 162 298
W\EERTE 373 598 616 1,214 Emxe+ETHE 140 169 163 332
HWEENTHE 332 593 561 1,154
WEELTE 285 317 332 649
HwmEE/\TH 1 1 0 1




